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[ RHT R 2,851 1,428| 1,423 1,137 (R T2 1 1,905 934 971 703 (BRI =3 ] 551 289 262 253
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FRYRITY 5L PEIFITBR 3T H 151 81 70 66 KT LT 1,949 963 986 781
R R 1T H 276 138 138 124 PRIERTEERAT A 305 157 148 128 REHTRET1IT H 158 79 79 77
FRARITY R 2T B 261 124 137 112 RIFHTFERS T B 572 311 261 301 RERTIEET2T H 168 99 69 76
HRETY R 3T H 232 115 117 98 PRIERTEER 6T A 246 126 120 103 REHTARET3 T H 123 67 56 60
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(RS T P 7 ] 108 59 49 41 ()10 b/ ] 331 165 166 161 [RAAMT )\ ] 202 103 99 100
CRAE T R 1,426 704 722 572 () 10T /NG ] 707 369 338 335 [BEAHT B A | ] 655 317 338 268
RS T A I 1,319 640 679 551 ()11 m7 4 ] 104 50 54 40 [RAAMT & H ] 838 409 429 175
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B HT & 1,250 611 639 477 (RArgmT#h N | ] 916 474 442 403 [ BEZHT] 3,327 1,605 1,722 1,189
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